

$$14.5 - (36) \quad a) \quad \underline{|\nabla f(P)| = 2\sqrt{3}}, \quad \text{AND} \quad \frac{\nabla f(P)}{|\nabla f(P)|} = \frac{\vec{v}}{|\vec{v}|} = \frac{\langle 1, 1, -1 \rangle}{\sqrt{3}};$$

$$\text{so } \underline{\nabla f(P) = 2\sqrt{3} \left( \frac{\langle 1, 1, -1 \rangle}{\sqrt{3}} \right) = \langle 2, 2, -2 \rangle}$$

$$b) \quad \text{IF } \vec{w} = \langle 1, 1, 0 \rangle, \quad \text{LET } \vec{u} = \frac{\vec{w}}{|\vec{w}|} = \frac{\langle 1, 1, 0 \rangle}{\sqrt{2}}.$$

$$\text{THEN } D_{\vec{u}} f(P) = \nabla f(P) \cdot \vec{u} = \frac{4}{\sqrt{2}} = \underline{2\sqrt{2}}$$

$$14.6 - (49) \quad \underline{x^2 + 2xy - y^2 + z^2 = 7}, \quad P(1, -1, 3)$$

$$\nabla f = \langle 2x+2y, 2x-2y, 2z \rangle, \quad \text{so } \vec{n} = \nabla f(P) = \langle 0, 4, 6 \rangle.$$

$$0(x-1) + 4(y+1) + 6(z-3) = 0 \quad \text{GIVES } 4Y + 6Z = 14 \quad \text{OR } \underline{2Y + 3Z = 7}$$

$$(80) \quad \underline{x^2 + y^2 - 2xy - x + 3y - z = -4}, \quad P(2, -3, 18)$$

$$\nabla f = \langle 2x-2y-1, 2y-2x+3, -1 \rangle, \quad \text{so } \vec{n} = \nabla f(P) = \langle 9, -7, -1 \rangle.$$

$$9(x-2) - 7(y+3) - (z-18) = 0 \quad \text{GIVES } \underline{9X - 7Y - Z = 21}$$

$$(12) \quad \underline{z = \frac{4x^2 + y^2}{f(x, y)}}, \quad (1, 1, 5) \quad \vec{n} = \langle f_x, f_y, -1 \rangle \Big|_{(1, 1, 5)} = \langle 8x, 2y, -1 \rangle \Big|_{(1, 1, 5)},$$

$$\text{so } \vec{n} = \langle 8, 2, -1 \rangle \quad \text{AND} \quad \underline{8X + 2Y - Z = 5} \quad \text{IS AN EQUATION FOR THE TANGENT PLANE.}$$

$$(14) \quad \underline{xyz = 1}, \quad \underline{x^2 + 2y^2 + 3z^2 = 6}; \quad P(1, 1, 1)$$

$$\text{LET } \vec{n}_1 = \nabla f(P) = \langle yz, xz, xy \rangle \Big|_{(1, 1, 1)} = \langle 1, 1, 1 \rangle, \quad \text{AND}$$

$$\text{LET } \vec{n}_2 = \nabla g(P) = \langle 2x, 4y, 6z \rangle \Big|_{(1, 1, 1)} = \langle 2, 4, 6 \rangle.$$

$$\text{THEN } \vec{a} = \vec{n}_1 \times \vec{n}_2 = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ 1 & 1 & 1 \\ 2 & 4 & 6 \end{vmatrix} = 2\vec{i} - 4\vec{j} + 2\vec{k} = 2\langle 1, -2, 1 \rangle,$$

so THE TANGENT LINE TO THE CURVE OF INTERSECTION OF THE SURFACES

$$\text{IS GIVEN BY } \underline{x = 1 + t, \quad y = 1 - 2t, \quad z = 1 + t}$$

$$(26) \quad b) \quad f(x, y) = (x+y+2)^2 \quad \text{AT } P(1, 2)$$

$$f_x(1, 2) = 2(x+y+2) \cdot 1 \Big|_{(1, 2)} = 10 \quad \text{AND} \quad f_y(1, 2) = 2(x+y+2) \cdot 1 \Big|_{(1, 2)} = 10,$$

$$\text{so } \underline{L(x, y) = f(1, 2) + f_x(1, 2)(x-1) + f_y(1, 2)(y-2)}$$

$$= \underline{25 + 10(x-1) + 10(y-2)}$$

5a)  $\cos \pi x - x^2 y + e^{xz} + yz = 4, \quad P(0, 1, 2)$   
 $f(x, y, z)$

$\nabla f = \langle -\pi \sin \pi x - 2xy + e^{xz} \cdot z, -x^2 + z, e^{xz} \cdot x + y \rangle, \text{ so}$

$\vec{n} = \nabla f(P) = \langle 2, 2, 1 \rangle. \quad 2x + 2y + z = d \text{ where } d = 2(0) + 2(1) + 2, \text{ so } \boxed{2x + 2y + z = 4}$

17)  $x^3 + 3x^2 y^2 + y^3 + 4xy - z^2 = 0, \quad x^2 + y^2 + z^2 = 11; \quad P(1, 1, 3)$   
 $f(x, y, z) \quad g(x, y, z)$

$\nabla f = \langle 3x^2 + 6xy^2 + 4y, 6x^2 y + 3y^2 + 4x, -2z \rangle, \text{ so let } \vec{n}_1 = \nabla f(P) = \langle 13, 13, -6 \rangle$

$\nabla g = \langle 2x, 2y, 2z \rangle, \text{ so let } \vec{n}_2 = \nabla g(P) = \langle 2, 2, 6 \rangle = 2 \langle 1, 1, 3 \rangle$

Then  $\vec{a} = \vec{n}_1 \times \left(\frac{1}{2} \vec{n}_2\right) = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ 13 & 13 & -6 \\ 1 & 1 & 3 \end{vmatrix} = 45\vec{i} - 45\vec{j} + 0\vec{k} = 45 \langle 1, -1, 0 \rangle,$

so the TANGENT LINE TO THE CURVE OF INTERSECTION OF THE SURFACES AT P IS GIVEN BY  $\boxed{x = 1 + t, y = 1 - t, z = 3}$  (since  $\langle 1, -1, 0 \rangle$  is a DIRECTION VECTOR FOR THE LINE)

19)  $f(x, y, z) = \ln \sqrt{x^2 + y^2 + z^2} = \frac{1}{2} \ln(x^2 + y^2 + z^2)$

ESTIMATE THE CHANGE IN  $f$  MOVING FROM  $P(3, 4, 12)$  A DISTANCE .1 IN THE DIRECTION OF  $\vec{v} = \langle 3, 6, -2 \rangle$ .

SOL. 1 Let  $\vec{u} = \frac{\vec{v}}{|\vec{v}|} = \frac{\langle 3, 6, -2 \rangle}{7} = \langle \frac{3}{7}, \frac{6}{7}, -\frac{2}{7} \rangle$  AND  $\vec{w} = .1 \vec{u}$ .

Then  $df = (D_{\vec{u}} f(P)) |\vec{w}|$  where  $\nabla f = \left\langle \frac{x}{x^2 + y^2 + z^2}, \frac{y}{x^2 + y^2 + z^2}, \frac{z}{x^2 + y^2 + z^2} \right\rangle$

so  $df = (\nabla f(P) \cdot \vec{u}) |\vec{w}| = \left( \left\langle \frac{3}{169}, \frac{4}{169}, \frac{12}{169} \right\rangle \cdot \left\langle \frac{3}{7}, \frac{6}{7}, -\frac{2}{7} \right\rangle \right) (.1)$

$= \frac{9}{169(7)} (.1) = \frac{9}{7(1690)} = \boxed{\frac{9}{11,830}}$

SOL. 2 Let  $\vec{u} = \frac{\vec{v}}{|\vec{v}|} = \left\langle \frac{3}{70}, \frac{6}{70}, -\frac{2}{70} \right\rangle, \text{ let } \vec{w} = .1 \vec{u} = \left\langle \frac{3}{700}, \frac{6}{700}, -\frac{2}{700} \right\rangle,$

AND let  $Q = \left( 3 + \frac{3}{70}, 4 + \frac{6}{70}, 12 - \frac{2}{70} \right), \leftarrow (x, y, z)$

Then  $df = f_x(3, 4, 12)(x-3) + f_y(3, 4, 12)(y-4) + f_z(3, 4, 12)(z-12)$

$= \frac{3}{169} \left( \frac{3}{70} \right) + \frac{4}{169} \left( \frac{6}{70} \right) + \frac{12}{169} \left( -\frac{2}{70} \right) = \boxed{\frac{9}{11,830}}$

21)  $g(x, y, z) = x + x \cos z - y \sin z + y$  MOVING FROM  $P(2, -1, 0)$  .2 UNITS TOWARD  $P_1(0, 1, 2)$

$\nabla g = \langle 1 + \cos z, -\sin z + 1, -x \sin z - y \cos z \rangle$   
 let  $\vec{v} = \overrightarrow{PP_1} = \langle -2, 2, 2 \rangle = 2 \langle -1, 1, 1 \rangle, \text{ let } \vec{u} = \frac{\vec{v}}{|\vec{v}|} = \frac{\langle -1, 1, 1 \rangle}{\sqrt{3}} = \left\langle -\frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}} \right\rangle,$

let  $\vec{w} = .2 \vec{u} = \left\langle -\frac{1}{5\sqrt{3}}, \frac{1}{5\sqrt{3}}, \frac{1}{5\sqrt{3}} \right\rangle, \text{ AND } Q = (x, y, z) = \left( 2 - \frac{1}{5\sqrt{3}}, -1 + \frac{1}{5\sqrt{3}}, 0 + \frac{1}{5\sqrt{3}} \right)$

Then  $dg = g_x(2, -1, 0)(x-2) + g_y(2, -1, 0)(y-(-1)) + g_z(2, -1, 0)(z-0)$

$= 2 \left( -\frac{1}{5\sqrt{3}} \right) + 1 \left( \frac{1}{5\sqrt{3}} \right) + 1 \left( \frac{1}{5\sqrt{3}} \right) = \frac{-2}{5\sqrt{3}} + \frac{2}{5\sqrt{3}} = \boxed{0}$

OR use  $dg = (\nabla g(P) \cdot \vec{u}) (|\vec{w}|) = \left( \langle 2, 1, 1 \rangle \cdot \left\langle -\frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}} \right\rangle \right) (.2) = 0(.2) = \boxed{0}$